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QUESTION 1

An EVPN-signaled VXLAN overlay has been deployed in the network shown in the exhibit. Host1 is a bare metal server,
and is dual-homed to the network. The IP addresses 10.1.1.1/24 and 10.1.1.2/24 are assigned to the same physical
NIC, and no virtualization is configured on the server.
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In this scenario, which two statements are true? (Choose two.)

A. The MAC address associated with 10.1.1.1/24 and 10.1.1.2/24 will be the same when advertised to leaf3.
B. The connection from hostl to devices leafl and leaf2 must be configured as a LAG.

C. Traffic from IP address 10.1.1.1/24 must traverse the VXLAN network to reach IP address 10.1.1.2/24.

D. The ESI assigned to the leafl-hostl link must be the same as the ESI assigned to the leaf2-hostl link.
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Correct Answer: BD

QUESTION 2

You are designing a network for a small data center.

In this scenario, which underlay protocol allows for the simplest implementation?
A. OSPF

B. IBGP

C. EBGP

D. MPLS

Correct Answer: C

QUESTION 3

Which two combinations are supported when configuring a Virtual Chassis Fabric? (Choose two.)
A. two spine nodes and 28 leaf nodes

B. four spine nodes and 20 leaf nodes

C. four spine nodes with 16 leaf nodes

D. two spine nodes and 16 leaf nodes

Correct Answer: CD

QUESTION 4

Your manager asks you to secure ARP and DHCP traffic across your local Ethernet links.
In this scenario, which technology will accomplish this task?

A. SSL

B. a firewall filter

C. IPsec

D. MACsec

Correct Answer: D

QUESTION 5
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A VXLAN adds 50 to 54 bytes of extra header information to an Ethernet frame. In this scenario, how would you
accommodate this increase?

A. Decrease the number VXLANSs used.

B. Increase the MTU on the physical interface connected to the VXLAN network.
C. Only use switches as VTEPs.

D. Increase the MTU on the VTEP interface connected to the VXLAN network.

Correct Answer: B
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